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What does Argo Events primarily focus on?
Response:

A. Event-based dependency management
B. Continuous integration

C. Data processing

D. Application development

Answer: A

What is the format for defining an Argo Workflow?
Response:

A. Binary
B. YAML
C. XML
D. JSON

Answer: B

Argo CD's rollback feature allows you to:
Response:

A. Revert Kubernetes cluster to a previous state
B. Roll back application code changes in Git

C. Revert to a previous application deployment
D. Restore deleted Kubernetes resources

Answer: C
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How does Argo Events trigger Argo Workflows?
Response:

A. Through manual intervention
B. Using Kubernetes CRDs

C. By direct API calls

D. Via a dedicated service

Answer: B

In a Canary release managed by Argo Rollouts, how can you control the percentage of traffic sent to the
new version?
Response:

A. Use a Kubernetes Horizontal Pod Autoscaler (HPA)
B. Modify the ReplicaSet directly

C. Adjust the traffic weight in the Rollout object

D. Use the kubectl rollout scale command

Answer: C

What roles do "Sensors" and "Triggers" play in Argo Events?
(Select two)
Response:

A. Sensors detect events and decide when to trigger actions.

B. Sensors store log files for historical analysis.

C. Triggers define the actions to be executed in response to an event.
D. Triggers are responsible for managing Kubernetes Pods.

Answer: A,C

Argo Rollouts is particularly beneficial in which environment?
Response:
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A. Non-containerized environments
B. Low-traffic applications

C. Kubernetes clusters

D. Standalone virtual machines

Answer: C

What type of Kubernetes resource is crucial for Argo Events?
Response:

A. ConfigMap

B. Secret

C. CustomResourceDefinition (CRD)
D. Service

Answer: C

How can Argo Rollouts revert to a previous version if a deployment fails?
Response:

A. Manual intervention is required

B. Using automated rollbacks

C. Through external monitoring tools
D. By pausing the deployment

Answer: B

Which of the following are valid deployment strategies supported by Argo Rollouts?
(Select two)
Response:

A. Canary

B. Rolling Deployment
C. Blue/Green

D. Recreate
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Answer: A,C
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